
5CENTO
MODEL: S2200, S2210, S2220

INSTRUCTIONS SHEET PAGE: 1 of 3

INS-828
9320 Boul. St-Laurent, suite 100, Montréal (Québec) Canada H2N 1N7

P.: 514.523.1339   F.: 514.525.6107  www.sistemalux.com

DM - R0Last update: December 07, 2022

B

C + D E

WALL

#8 FLAT SCREW
(NOT INCLUDED)

ANCHOR SCREWS
(NOT INCLUDED) 

A

TO REMOTE 
DRIVER

SURFACE INSTALLATION WITH FIXTURE WHIP TO REMOTE DRIVER (FW-REM)

IMPORTANT - READ CAREFULLY BEFORE INSTALLING FIXTURE. RETAIN THESE INSTRUCTIONS FOR FUTURE REFERENCE. 
THIS PRODUCT MUST BE INSTALLED IN ACCORDANCE WITH THE NATIONAL ELECTRICAL CODE AND ALL APPLICABLE LOCAL CODES, BY A PERSON FAMILIAR WITH THE 
CONSTRUCTION AND OPERATION OF THE PRODUCT, AND THE HAZARDS INVOLVED. PROPER GROUNDING IS REQUIRED FOR SAFETY.

 DISCONNECT THE MAIN LINE BEFORE WIRING SECONDARY CONNECTORS.

A- SET THE FIXTURE LEVELED TO THE WALL, MARK THE DESIRED DRILLING HOLES ON THE WALL AND PREPARE THE SURFACE. 
 (SEE DIMENSIONS BELOW). *INSERT (2) ANCHOR SCREWS (NOT INCLUDED) IF NECESSARY.
B- UNCLIP THE FRONT PANEL FROM THE FIXTURE USING A SMALL ALLEN KEY (NOT INCLUDED).
C- FEED THE CABLE THROUGH THE CONDUIT AND MAKE THE NECESSARY WIRE CONNECTIONS AT THE REMOTE DRIVER USING 
 WATERTIGHT TWIST CONNECTORS (NOT INCLUDED).
D- INSTALL THE FIXTURE BASE TO THE WALL USING THE APPROPRIATE #8 FLAT SCREWS (NOT INCLUDED).
E- CLIP THE FRONT PANEL BACK ON THE FIXTURE

 
5.0 mm]

1³/4"
(45mm)

¹/2"
(15mm)2¹/4"

(60mm)

S2200

S2220

LED +
LED -

RED
BLACK

[4

21
4 in

[60.0 mm]
31

4 in
[80.0 mm]
3¹/4"

(80mm)
2¹/4"

(60mm)

1³/4"
(45mm)

1¹/16"
(27mm)

1¹/16"
(27mm)

 

n
m

31
4 in

[80.0 mm]

13

[45.0

11
2 i

[37.5 m

1¹/2"
(37.5mm)

3¹/4"
(80mm)

1³/4"
(45mm)

S2210

1¹/16"
(27mm)

5⁵/16"
(135mm)

7¹/4"
(186mm)

CLICK

FIXTURE

C

D

FRONT PANEL 

CABLE

FRONT PANEL 

SMALL ALLEN KEY
(NOT INCLUDED)

FIXTURE 

FIXTURE



5CENTO
MODEL: S2200, S2210, S2220

INSTRUCTIONS SHEET PAGE: 2 of 3

INS-828
9320 Boul. St-Laurent, suite 100, Montréal (Québec) Canada H2N 1N7

P.: 514.523.1339   F.: 514.525.6107  www.sistemalux.com

DM - R0Last update: December 07, 2022

A- INSTALL THE MOUNTING PLATE ON THE JUNCTION BOX USING THE APPROPRIATE #8-32 SCREWS (NOT INCLUDED)
B- UNCLIP THE FRONT PANEL FROM THE FIXTURE USING A SMALL ALLEN KEY (NOT INCLUDED).
C- MAKE WIRE CONNECTIONS (FOLLOWING POLARITY MARKINGS) USING WATERTIGHT TWIST CONNECTORS (NOT INCLUDED).
 ONCE CONNECTED, PUSH THE WIRES BACK INTO THE JUNCTION BOX.
D- FASTEN THE FIXTURE ON THE MOUNTING PLATE USING THE (2) PHILLIPS SCREWS (INCLUDED).
E- CLIP THE FRONT PANEL BACK ON THE FIXTURE.

C + D E

A

JUNCTION
BOX

#8-32 SCREW 
(NOT INCLUDED)

MOUNTING PLATE

WALL

MOUNTING
PLATE

B

FIXTURE

4" JUNCTION BOX INSTALLATION WITH REMOTE DRIVER (JB-REM)

LED +
LED -

RED
BLACK

TO REMOTE 
DRIVER

C

D

D

#8-32 SCREW
(INCLUDED)

CLICK

FIXTURE 

WATERTIGHT TWIST 
CONNECTORS 
(NOT INCLUDED)

FRONT PANEL 

SMALL ALLEN KEY
(NOT INCLUDED)

FRONT PANEL 

FIXTURE 



5CENTO
MODEL: S2200, S2210, S2220

INSTRUCTIONS SHEET PAGE: 3 of 3

INS-828
9320 Boul. St-Laurent, suite 100, Montréal (Québec) Canada H2N 1N7

P.: 514.523.1339   F.: 514.525.6107  www.sistemalux.com

DM - R0Last update: December 07, 2022

 JUNCTION BOX MUST BE LEVELED IN ORDER TO HAVE THE FIXTURE INSTALLED PROPERLY.
A- UNCLIP THE CAP FROM THE FIXTURE USING A SMALL ALLEN KEY (NOT INCLUDED).
B- MAKE WIRE CONNECTIONS (FOLLOWING POLARITY MARKINGS) USING WATERTIGHT TWIST CONNECTORS (NOT INCLUDED).
 ONCE CONNECTED, PUSH THE WIRES BACK INTO THE JUNCTION BOX.
C- SECURE THE FIXTURE TO THE JUNCTION BOX USING (2) PHILLIPS SCREWS (INCLUDED).
D- CLIP THE FRONT PANEL BACK ON THE FIXTURE.

A

5CENTO RECTANGULAR
S2210, S2220

2" SINGLE GANG BOX INSTALLATION WITH REMOTE DRIVER (J2-REM)

LED +
LED -

RED
BLACK

 D 

FIXTURE

CLICK

SCREW
(INCLUDED)

FIXTURE

B + C

WATERTIGHT TWIST 
CONNECTORS 
(NOT INCLUDED)

WALL

FRONT PANEL 

FIXTURE 

SMALL ALLEN KEY
(NOT INCLUDED)

FRONT PANEL 


